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Across / Down

the thin layer of air that surrounds Earth
temperature is a measure of this

____gases absorb radiation from Earth’s surface

a series of events that happen over and over again
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AcCross / Down
2. the thin layer of air that surrounds Earth
5. temperature is a measure of this
6.  gases absorb radiation from Earth’s surface
9. a series of events that happen over and over again
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Across /ann
1. a greenhouse gas released by termites |
2. effect caused by reflection of Sun’s radiation ‘,“
3. a main ingredient in smog \ 4
4. one of the elements in both methane and water I
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